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aAV9 ) —FKRIRIE #ER
. _ EYAN B
EmE | XME FEANIE (HTRL2 |£1EEBI 1EEB |WREH |HT h a b ni n2 n3 TEETE
mm mm mm mm mm mm mm mm mm mm mm
1000 3000, 1250 3300 3000 250 400  1i0] 180|200 22| 1 3| 350
1000 4000 1250 4300 4000 250, 400 10|  180] 200 30 15 3 350
2000 3000 2250 3300 3000 250, 400  110] 180 200 22| 11 7 350
i 2000 4000 2250 4300 4000 250, 400 10|  180] 200 30 15 7 350
3000 30000 3250 3300 3000 250, 400  110]  180] 200 22| 11| 11| 350
3000 4000 3250 4300 ao00| 250 400 110 180|200 30 15 11| 350
1000 4000 1350 4300 4000 350 500 210] 230 200 30 15 3 400
1000 5000 1350 5300 5000 350, 500  210]  230] 200 38 19 3 400
1000 6000 1350 6300 6000 350, 500 210  230] 200 46| 23 3 400
1000 7000 1350 7300 7000 350, 500 210  230] 200 54| 27 3 400
1000 8000 1350 8300 8000] 350 500 210  230] 200 62 31 3| 400
2000 4000 2350 4300 4000 350 500 210, 230 200 30 15 7 400
2000 5000 2350 5300 5000 350, 500 210  230] 200 38 19 7 400
T25 2000 6000] 2350 6300 6000 350 500  210] 230, 200 46| 23 7 400
2000 7000 2350 7300 70000 350, 500 210  230] 200 54| 27 7 400
2000 8000 2350 8300 8000, 350 500 210,  230] 200 62| 31 7 400
3000 4000 3350 4300 4000 350 500  210]  230] 200 30 15 11| 400
3000 5000 3350 5300 5000 350, 500 210  230] 200 38 19| 11| 400
3000 6000 3350 6300 6000 350, 500 210  230] 200 46| 23] 11| 400
3000 7000 3400 7300 7000 400] 550 260  130] 200 54| 27| 12| 450
3000 8000 3400 8300 sooo| 400 550 260  130] 200 62 31| 12| 450
1000 1400 1150 1700 1400 150 300 90| 140 75 1 3 300
1000 2000 1150 2300 20000 150, 300 90 140 750 16 3 300
) 2000 1400 2150 1700 1400 150 300 90 140 75 11 7 300
W=1000kg 2000 20000 2150 2300 2000 150 300 90| 140 75 16 7 300
3000 1400 3200 1700 1400 200 350, 140 140 75 11 11 300
3000 2000 3200 2300 2000 200 350 140 140 75 16 11 300




aAvy ) — bRhRIE BCAAR

EANKS HE | %M mAME| 52 53 54 al G2 U1
EES E AN E ARE ARE AN |E AN E N E AN
RCS T9 - 1000 - 3000({T9 1000 3000(D16 27/D16 14|D16 6/D16 6/D13 8/D13 2|D13
RCS T9 - 1000 - 4000|T9 1000 4000|D16 35|D16 18|D19 6|D16 6/D13 8/D13 2|D13
RCS T9 - 2000- 3000|T9 2000 3000|D16 27|D16 14|/D16 10|/D16 10|D13 16|/D13 2|D13 10
I RCS T9 - 2000 - 4000|T9 2000 4000|D16 35|D16 18|D19 10|D16 10|D13 16|/D13 2|D13 14
RCS T9 - 3000- 3000|T9 3000 3000{D19 27|D16 14|D16 14|D16 14|D13 24/D13 2|D13 15
RCS T9 - 3000 - 4000({T9 3000 4000(D19 35/D16 18|D19 14|D16 14|D13 24/D13 2|D13 21
RCS T25 — 1000 - 4000|725 1000 4000|D22 35|D19 18|D25 6|D19 6/D13 8/D13 2|D13
RCS T25 - 1000 - 5000|725 1000 5000|D22 43|D19 22|D25 6|D19 6/D13 8/D13 2|D13
RCS T25 — 1000 — 6000|T25 1000 6000|D22 51|D19 26|D25 6|D19 6/D13 8/D13 2|D13 11
= RCS T25 - 1000 - 7000|T25 1000 7000|D25 59|D22 30|D25 6|D22 6/D13 8/D13 2|D13 13
H RCS T25 - 1000 - 8000(T25 1000 8000(D25 67|D22 34|D25 6|D22 6/D13 8/D13 2|D13 15
& RCS T25 - 2000 - 4000(T25 2000 4000(D22 35/D19 18|D25 10|D19 10(D13 16|D13 2|D13 14
RCS T25 — 2000 - 5000|725 2000 5000|D22 43|1D19 22|D25 10/D19 10|D13 16|/D13 2|D13 18
I RCS T25 - 2000 - 6000(T25 2000 6000(D22 51|D19 26|D25 10|/D19 10|D13 16|/D13 2|D13 22
RCS T25 - 2000 - 7000|T25 2000 7000|D25 59|D22 30|D25 10|D22 10|D13 16|/D13 2|D13 26
RCS T25 - 2000 - 8000|T25 2000 8000|D25 67|D22 34|D25 10|D22 10|D13 16|/D13 2|D13 30
RCS T25 - 3000 - 4000(T25 3000 4000(D25 35|D22 18|D25 14|D22 14|D13 24/D13 2|D13 21
RCS T25 - 3000 - 5000|725 3000 5000(|D25 43|D22 22|D25 14|D22 14|D13 24/D13 2|D13 27
RCS T25 - 3000 - 6000|725 3000 6000|D25 51|D22 26|D25 14|D22 14|D13 24/D13 2|D13 33
RCS T25 — 3000 - 7000|T25 3000 7000|D25 59|D22 30|D22 15|D22 15|D13 26|D13 2|D13 43
RCS T25 - 3000 - 8000|T25 3000 8000|D25 67|D22 34|D22 15|D22 15|D13 26|D13 2|D13 53
RCS P - 1000 - 1400{W=1000kg 1000 1400(D13 14|D13 6| — — — — |D13 8/D13 2| — —
RCS P — 1000 - 2000{W=1000kg 1000 2000|D13 19|D13 6| — — — — |D13 8/D13 2| — —
% I RCS P — 2000 - 1400{W=1000kg 2000 1400|D13 14|D13 10| — — — — |D13 16|/D13 2| — —
*J% RCS P — 2000 - 2000{W=1000kg 2000 2000|D13 19|D13 10| — — — — |D13 16|/D13 2| — —
RCS P — 3000 - 1400{W=1000kg 3000 1400|D13 14|D13 14| — — — — |D13 24/D13 2| — —
RCS P — 3000 - 2000{W=1000kg 3000 2000(D13 19|D13 14| — — — — |D13 24/D13 2| — —
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100 b1 |[100
L]
% =
e B | B & |A¥ BEUBEE 1ALYEE B = W =
(mm) (kg/m) (kg) (kg)
Pi | D16 1.56 _
P2 | D13 0.995 |
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ENKXar/)—-MEE BER

WEES BEEH N h1 h2 b1 b2 b3
B |- |BEES|-| 4147 mm mm mm mm mm mm
GA |-| 1000 |-] A 160 840 710 | 300 210
GA |-| 1000 |-| B 260 740 735 | 350 185
GA |-| 1000 |-| C 1000 0.25 310 690 773 | 400 173
GA |-| 1000 |-| D 360 640 760 | 400 160
GA |-| 1000 |-| E 410 590 798 | 450 148
GA |-| 1500 |-| A 160 1340 | 969 | 300 469
GA |-| 1500 |-| B 260 1240 | 984 | 350 434
GA |-| 1500 |-| ¢C 1500 0.35 310 1190 | 1017 | 400 417
GA |-| 1500 |-| D 360 1140 | 999 | 400 399
GA |-| 1500 |-| E 410 1090 | 1032 | 450 382
GA |-| 2000 |-] A 160 1840 | 1420 | 300 920
GA |-| 2000 |-| B 260 1740 | 1420 | 350 870
GA |-| 2000 |-| C 2000 05 310 1690 | 1445 | 400 845
GA |-| 2000 |-| D 360 1640 | 1420 | 400 820
GA |-| 2000 |-| E 410 1500 | 1445 | 450 795
BEARXa0)— L EE HEX
PN 10 15 20
N\
X% 5B X 10 20 30 10 20 30 10 20 30
=1=1
I 2‘8 GA - 1000 - B| GA - 1000 - B| GA - 1000 - B |GA - 1500 - B |GA - 1500 - B| GA - 1500 - B|GA - 2000 - B |GA - 2000 - B |GA - 2000 - B
40
5.0 GA - 1000 - D GA - 1500 - D GA - 2000 - D
6.0 | GA - 1000 - D| GA - 1000 - D GA - 1500 - D |GA - 1500 - D GA - 2000 - D|GA - 2000 - D
70 GA - 1000 - E GA - 1500 - E GA - 2000 - E
i 80
14
I 2| GA = 1000 — A| GA - 1000 ~ A| GA - 1000 ~ A|GA - 1500 ~ A |GA - 1500 - A| GA - 1500 ~ A[GA - 2000 - A|GA - 2000 - A |GA - 2000 - A




ENXaV)—-+EE

BHmHBER (TD1)

B1 h1 a
247 ni
(mm) (mm) (mm)
A 1700 160 0 6
B5| # R & |AY|HEEE 1ALYER 2
(mm) (kg/m) (kg) (kg)
P1 D16 660 7 1.56 1.030 7.2
P2 | D13 1500 1 0.995 1.493 1.5
D16 7.2 kg
D13 1.5 kg
&t 8.7 kg
B1 hi a
a4 7 ni
(mm) (mm) (mm)
A 2300 160 175 7
2E| & E & |A¥Y|HEAEE1ALYER H =2 I3
(mm) (kg/m) (kg) (kg)
P1 | D16 660 10 1.56 1.030 10.3 |
P2 | D13 2100 1 0.995 2.090 2.1 -
D16 10.3 kg
D13 2.1 kg
A& 12. 4 kg

B1 h1 a
247 nit
(mm) (mm) (mm)
B 3300 260 175 11
5| & E & |[AY|BEEEENALYVER BE = m OB
(mm) (kg/m) (kg) (kg)
P1 D16 760 14 1.56 1.186 16.6 |
P2 | D13 3100 1 0.995 3.085 3.1 -
D16 16.6 kg
D13 3.1 kg
&t 19.7 kg
B1 h1 a
a4 7 nt
(mm) (mm) (mm)
B 4300 260 175 15
e # £ & |AH| BHNEE XY VEE B = wm =
(mm) (kg/m) (kg) (kg)
P1 | D16 760 18 1.56 1.186 21.3 |
P2 | D13 4100 1 0.995 4.080 4.1 -
D16 21.3 kg
D13 4.1 kg
&t 25.4 kg

B1 h1 a
247 nt
(mm) (mm) (mm)
D 4300 360 175 15
2S5 & E & |[AY|BEEEE 1AL Y HH =1 m OE
(mm) (kg/m) (kg) (kg)
P1 D16 860 18 1.56 1.342 24.2 |
P2 | D13 4100 1 0.995 4.080 4.1 -
D16 24.2 kg
D13 4.1 kg
A&t 28.3 kg
B1 h1 a
247 ni
(mm) (mm) (mm)
D 5300 360 175 19
w5 & E & A |BEEEE N ALVES & =2 w E
(mm) (kg/m) (kg) (kg)
P1 | D16 860 22 1.56 1.342 29.5 |
P2 | D13 5100 1 0.995 5.075 5.1 -
D16 29.5 kg
D13 5.1 kg
&t 34.6 kg




EAXaro)—-HESE
BHEHER (T02)

B1 h1 a B1 h1 a
a4 7 ni 247 ni
(mm) (mm) (mm) (mm) (mm) (mm)
D 7300 360 175 217 E 7300 410 175 27
i 7 R & |AY | HEEHEE1A4YEERE H 8 w = BE| & E & |AY|EMEBEE1XLYESE E =2
(mm) (kg/m) (kg) (kg) (mm) (kg/m) (kg) (kg)
P1 | D16 860 30 1.56 1.342 40.3 | P1 | D16 910 30 1.56 1.420 42.6
P2 | D13 7100 1 0.995 7.065 7.1 - P2 | D13 7100 1 0.995 7.065 7.1
D16 40.3 kg D16 42.6 kg
D13 7.1 kg D13 7.1 kg
A&t 47.4 kg &t 49.7 kg
B1 h1 a B1 h1 a
247 ni a4 7 ni
(mm) (mm) (mm) (mm) (mm) (mm)
D 8300 360 175 31 E 8300 410 175 31
iS5 7 R & |A¥ | HUHEE1A4YVEERE B 2 w = iZes| & R & |AY|EHBEE1XLYESE B =2 )
(mm) (kg/m) (kg) (kg) (mm) (kg/m) (kg) (kg)
P1 | D16 860 34 1.56 1.342 45. 6 | P1 | D16 910 34 1.56 1.420 48.3 |
P2 | D13 8100 1 0.995 8.060 8.1 - P2 | D13 8100 1 0.995 8.060 8.1 -
D16 45.6 kg D16 48.3 kg
D13 8.1 kg D13 8.1 kg
A&t 53.7 kg A&t 56.4 kg
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